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QUESTION BOOKLET
This question paper contains 170 questions. /ST I A H 170 TH & |

All questions are compulsory. / @t I3 31f4a & |

One question carries half mark only. / T I4 o foTu shaet amen 37 2 |

Maximum Marks : 85 E_% HAfrehan 3 : 85
Time : 2 Hours = uy : 2 gue

1. A 12 V automobile light is rated at 30 W. The total charge that flows through
the filament in one minute is

Th 12 V ATIHEEA d8e 30 W 8 fagiia 2 | we fide 0 fhamie 9 w8 aren
el ISR BT
(A) 30C B) 12C (C) 150C (D) 180C

2. If the length of a wire of resistance R is uniformly stretched to n times its
original value, its new resistance is:
gfe R gfeier aTel Ueh AR Sl SaTs ! 3ok AT I & n AT deh THATH
= ST a1 3FeRT 941 Ifay g

(A) nR (B) R/n (C) N2R (D) R/n?

3. The hot resistance of filament of a bulb is higher than the cold resistance
because the temperature co- efficient of the filament is:
(A) negative (B) infinite (C) zero (D) positive
Teh dod o fharmie 1 aw Yt 3fid Ifatiey @ I gid1 & ik fhare &1 am
TUTTh BT & :
(A) RUTTcHh (B) 3fd (C) = (D) ATH®

4. Twelve 1 Q resistances are used as edges to form a cube. The resistance

between two diagonally opposite corners of the cube is :

Teh T S o ToTC 9RE 1 Q JfeRiY BRI o i W T 8ld & | 99 o ql farehufl
foreg B o wex ufatg g

5 6 3
(A) £Q (B) 10 ©) 50 (D) 5 Q

5. A conductor of d diameter, length / consumes a power of W when a current |
flows through it. What will be power consumed if d is doubled, / is halved
and current is tripled ?

[ TS aUT d AT ST Teh STeteh, Yfdd W hl @Ud sh{dT & S8 3Heh IR a7 |

Tl g | Wfad ot @ud fohat &It e d AT, 7 3T qe | 1 fow & S ?

(A) 18 W (B) 36W (C) 48 W (D) None/®T$ &l
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6.  Kirchhoff’s current law is applicable to
(1) Closed loops in a circuit (2) Junction in a circuit
(3) Magnetic circuits
Which of the above statement/s is / are correct ?

(A) 1 only (B) 2only (C) 3only (D) 1,2and3
TRt o1 G g ST 8

(1) U |fche § &g TN o foTT | (2) U Hfche H T & T |
(3) geehia Gfchel o feru |

ST H 9 i E1/A R TR B/3 7

(A) et 1 (B) a2 (C) FaA3 D) 1,2,3W3

7.  While determining R of a circuit:

(A) voltage and current sources should be left as they are

(B) all sources should be replaced by their source resistance

(C) all independent current and voltage sources are short circuited.
(D) None of these

T Gfehe T Ry MY hd 90 :

(A) dieedl agT R |l bl &1 8 39T & SIS ¢ I |
(B) @eft |l =l 3ok BT Uiyl gRT Sferemfia s =9mfeu |
(C) weft Tords gRT AT AieedT |id oIy -91rd 2id & |
(D) T | I3 &
8. Two charges are placed at a small distance apart. If a glass slab is placed

between them, the force between the charges will:
(A) notchange (B) Increase (C) Decrease (D) reduce to zero

<l ST ThH-GEL § Th SIS G T EATMUG foht 71T 2 | TG Th 778 =9 3+7eh AL
TN Y, 7 AT o AL &

(A) sTafEfdd @ | (B) e |
(C) =& | (D) I T T AT |
9.  The polential inside a charged hollow sphere is:
(A) zero (B) same as that on the surface
(C) less than that on the surface (D) none of these
Tsh ARG WiEet et & i fawa g &
(A) I (B) 3o & A adg WEar g |
(C) TSIaT Hag W g 399 A (D) 3T ¥ i T8
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10.

11.

12.

13.

14.

15.

The rms value of the resultant current in a wire which carries a dc current of
10A and sinusoidal alternating current of peak value 20A is:

10 A & T dc 9T I8 i Tl adr 20 A Y go 61 SATashi Jeamadt 9w
ol Teh IR H RO} 9/ T rms ot &R
(A) 14.1A (B) 17.3A (C) 22.4A (D) 30.0A

The resistance of a 1 kW electric heater when energized by a 230V. 1-phase ac is :
Th | kW Sciedish EIet ol I§ Th 230 V, |-l ac §RT Hioid TohdT ST & a9
yferQer gnm

(A) 52.90 (B) 230Q (C) 1000Q (D) 4.20

A 10 mH inductor carries a sinusoidal current of 1A rms at a frequency of
50Hz. The average power dissipated by the inductor is.

T 10 mH 3% 50 Hz 3TERI W 1 A rms <l SATE3RIT 9T T 984 LT & | 7
g &fra Sft|a wrfed grft

(A) OW (B) 0.25W (©) 0.5W (D) 1.0W

The power factor of an ac circuit lies between:

(A) Oand 1 (B) —land1 (C) 0and-l (D) none of these
Ueh ac Gfehe 1 IfeR T[0T 3 T BT 3

(A) 07T 1 (B) -1l (C) 0aur-1 (D) T4 T g &l
A single phase ac voltage source has 200 V rms and a system connected

consumes an active power of 300 W. What is the reactive power consumed
by the system if 2.5 A rms current is drawn ?

Tsh Tehdl el ac dleest @I ol rms 200 V & T 1Y IS Teh JUITedt /FATaedt
300 W =ht Efsha sifert <t @ud it & | 38 JuITell g0 @Ud <hl T8 Afaerdt wfe
1 8, Ife 2.5 A rms O Gied! 8 7

(A) 100VAR  (B) 200VAR  (C) 300VAR (D) 400 VAR

With the increase in applied frequency, the dielectric loss in a material will :

(A) increase (B) decrease
(C) remain constant . (D) become zero E_%
SR St S ¥ e, wered i e arf - =
(A) et | (B) =t |
(C) IR | (D) [ B S |
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16. A capacitor used for power factor correction in a single-phase circuit
decreases.
(A) the power factor
(B) the line current
(C) both the line current and the power factor
(D) the line current and increases power factor.

Th Uohol el Hlend H MMfard T<eh hl T& i oh 10 e AT T & -
(A) wfed g (B) @1 YT
(C) @1 °rT a7 vIfed Teeh gt (D) @1 YT qe N1ferd ©eeh ST 2 |

17. In an ac series RLC circuit, the voltage across R and L is 20V, voltage across
L and Cis 9V and voltage across RCL is 15V. What is the voltage across C ?

Teh ac At RLC "fehe H, R 99T L & IR dicest 20 V &, L 941 C & IR diees
9 V2 aUT RCL % IR alees 15 V2 | C % IR fehar aleesT 2 7

(A) 7V (B) 12V. (©) 16V (D) 21V
18. In the series resonant circuit, maximum, voltage across L occurs at :
(A) resonant frequency (B) slightly below resonant frequency

(C) slightly above resonant frequency (D) a frequency where I is maximum

Soft SIS Tfehe |, L % IR WETH dieest ITed BT

(A) ST IR T (B) 3T g & et =
(C) TS ST | AT FH (D) gfd W&l [ 79 2 |

19. A parallel circuit is said to be in resonance when the admittance is purely :
(A) Capacitive (B) Inductive  (C) Susceptive (D) Conductive
Teh TR Hfohe ol STATE! el ST & JaA9Tal I &9 8 & :

(A) oriar (B) firsh (C) wuTdt (D) =TAH

20. A coil of resistance 10Q2 and inductance 0.8H is connected to 200 V dc
supply. The initial rate of change of current is:

10 Q gferie T 0.8 H IWehed aTett Tsh heeft 200 V de M & I g 7 | 9
TR sht TRfeh e gif)
(A) 16A/S (B) 160A/S (C) 250A/S (D) 4000A/S

21. The temperature co-efficient of resistance of a wire is 0.0008 °C. If the
resistance of the wire is 8 ohm at 0 °C. What is the resistance at 100 °C ?
Teh T2 o fckIY sl a1 0.0008 °C & | AfG SR shl Hfatier 0 °C W 8 Q &, dl
100 °C W fepat wfedier g 2

(A) 8.64Q) (B) 8.08Q (C) 7.920 (D) 7.20Q
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22,

23.

24.

25.

26.

27.

Specific resistance of a conductor depends upon :

(A) dimensions of the conductor (B) composition of conductor material
(C) resistance of conductor (D) Both (A) and (B)

Tsh ATeTeh o TofTs Wioare Feit st 2

(A) ST o YRETIT W (B) =Teteh Ugref o TEe T

(C) =Teteh o Tfeg T (D) (A)de (B) QI W

EMEF of a thermocouple depends upon the :

(A) nature of material of metals E:E

(B) difference of temperature of two junctions E%

(C) Both (A) and (B)
(D) None of these

IHTRIA I EMF ¥ &°ta1 8

(A) ©Tg Terdf shl Fehid W (B) QI STRTI o dTaTa 9T
(C) (A)TT (B) HI R (D) ¥ & % T
Dielectric strength of a material depends upon

(A) Temperature (B) Thickness

(C) Moisture content (D) All of these

U vt 1 qaragd g R e 8

(A) TR (B) ARE W (C) S (D) FHEA W
Susceptibility of a diamagnetic material is :

(A) Negative (B) Positive

(C) Dependent on temperature (D) Independent of temperature
Teh i -wrarehia verel <t greehiy yaft it 2

(A) =RUlTcHb (B) 4dTcHS

(C) ATIHM W 34Tia (D) dTIHH ¥ T

Which of the following magnetic materials has the highest reluctance ?
(A) Ferromagnetic (B) Paramagnetic (C) Diamagnetic (D) None of these
foret o @ fopm it werel § wfasry Tar= g g 7

(A) le-gehr (B) STt
(C) wfa-gerhi (D) T8 | IS T8
The relative permeability is less than 1 in :
(A) Ferromagnetic materials (B) Diamagnetic materials
(C) Paramagnetic materials (D) Ferrites
AT Frarehefietd H1HTEA R |
(A) TE-FEh T (B) wfd-grarhr qered
(C) IF-TFreehi uegrd (D) Wrged
7 Code No. : C-753/2021/Series-A
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28. Soft iron is used in the manufacture of electromagnets because of'its :
(A) High saturation magnetization only(B) Low retentivity only

(C) Low coercive field only (D) None of these
feregd ekl o AT & qg-clig FISTEM AT e Haci 3qH % BT |
(A) 3= | gah (B) T gror et
(C) fr= Frg & (D) T & HIE TE

29. High frequency transformer cores are generally made of :
(A) cast-iron (B) mu-metal (C) ferrite (D) graphite
I G ATl A ShIS ARG 84 Bid & :

(A) s@aid@E (B) mu-91g (C) wEe (D) T%rEe

30. The magnetic field required to reduce the residual magnetization to zero is called :
(A) retentivity (B) coercivity  (C) hysteresis (D) saluration

3TUITE e <l I Tk T o [oTT STTTTTh Fraehi &1 ol T Hed & 7
(A) anoemar  (B) fanfgar (C) fe=tfm (D) @gfw

31. The shape of B-H curve for air gap is:
(A) parabola (B) sinusoidal (C) ellipse (D) straight line
AT 37U (TR ) o T B-H 915k %1 3TehR &1
(A) W (B) STEhI (C) e (D) Hieft w@n

32. Maganin alloy used for making resistors for laboratory instruments:
(A) Copper, Aluminium and Manganese
(B) Copper, Nickel and Manganese
(C) Aluminium, Nickel and Manganese
(D) Chromium, Nickel and Manganese

SRATTITEAT ITHTUT o TeTQ Sfcriereh ST o foTe s Hitf frzrang @
(A) IR, TAMHTRM qom TS (B) IR, fepet aum Hris
(C) wogfufam, fFerat qem ST (D) hiftrem, feher at Hs

33. The capacitance per unit volume is maximum for:

(A) air capacitor (B) mica capacitor

(C) ceramic capacitor (D) electrolytic capacitor

it 3ohTS AT ETiar o e AETm 2l 2 |

(A) T FITRA (B) 319 QYT

(C) Taufies gutfe (D) Terega-3tueet gt
Code No. : C-753/2021/Series-A 8
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34.

3S.

36.

37.

38.

The temperature co-efficient of a resistance of a doped semiconductor is :
(A) always positive

(B) always negative

(C) zero

(D) positive or negative depended on the level of doping
Teh Hfed STE—TeTeh % TaliY <l dTdieh BIdT &

(A) BHI GATCHS

(B) BHEIT KUMTcHeh %%
(C) ==

(D) ©TcHeh /FRUTTcH SITUT (ATeT) T X At 2 |

Reverse saturation current in a germanium diode is of the order of:
(A) 1 nanoampere (B) 1 microampere (C) 1 mA (D) 10mA
Teh THIH SRS § kA Tqftd ORI <l 369 2T 2 :

(A) 179U (B) 1 WSHITERR (C) 1 mA (D) 10 mA

A transformer transforms:

(A) voltage (B) current

(C) voltage and current (D) frequency

Teh B ST hidl &

(A) dreear (B) &/ (C) drcedi adm g/ (D) 3R
The core flux in transformer depends mainly on:

(A) supply voltage (B) supply voltage and frequency
(C) supply voltage, frequency and load (D) supply voltage and load
I T shig Foied g ®9 & faft 3

(A) 3Mfd deedl T (B) 3MMqfdd dieedr qei g T

(C) ITYfdd dleedl, R a4 YR W (D) 3TYad dicedl qeT ¥R T

A 250kVA, 11000V/400V and 50Hz single phase transformer has 80 turns

on the secondary, what is the maximum value of flux ?

Tk 250 kVA, 11000 V/400 V T 50 Hz Tehed Shedl SIEBIHT 7 fgetaeh W 80 o

2 | FoT9R b1 T oo 1 BT 7
(A) 2475mwb (B) 02mwb  (C) 22.5mwb (D) 55.2mwb

9 Code No. : C-753/2021/Series-A
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39. A single phase transformer when supplied from 220V, 50Hz has eddy
current loss of 5S0W. If the transformer is connected to a voltage of 330V,
50Hz, the eddy current loss will be:

T Ueh TUshel hedl JABIEL 220 V, 50 Hz & JATfdd BT 2, a8 3Heh! e am
&1 50 W R | Ife 2wt 330 V, 50 Hz dieedr 8 e &1, dl Yok & iy anft
(A) 168.75W  (B) 112.5W ©) 75W (D) 50W

40. The phasor diagram of a transformer on load can be drawn only if we know:
(A) equivalent circuit parameters of the transformer

(B) load current

(C) load power factor
(D) all of these

TR 9 BT T Bl ol haet quft Gl o1 EehdT & 59 &6 J1d &l :
(A) TG % e Hiche TTaet (B) WK &I
(C) R =fert oreh (D) TEaf

41. The percentage resistance and reactance of a transformer are 2% and 4%
respectively at full load, 0.8 p. f. lagging, the approximate voltage regulation is:

ot IR, q?%romﬁﬁwm%a?mﬁwuﬁwuﬁﬁaamuﬁamm
2% AT 4% & | T Sieea e g ;

(A) 12% (B) 8% (C) 6% (D) 4%.
42. The transformer efficiency will be maximum at a power factor of:
(A) 0.8 lead (B) unity (C) 0.81lag (D) 0.5 lag or lead
TfeRd T[UTeh IR ZTEWITR Shi geaaT Haxd g |
(A) 0.831 (B) Tk
(C) 0.8UzA (D) 0.5 31T Ay U
43. The all day efficiency of a distribution transformer will be high with low :
(A) Copper losses (B) Iron losses
(C) Operating temperature (D) Copper as well as iron losses
o1 19 o Tt Uk forawor g Sl ot fea qarar 3= gt |
(A) A Il (B) wirg gIi-at
(C) diETed aMgH (D) dTH AT A1 & g gt
44. A distribution transformer is selected on the basis of :
(A) voltage regulation (B) efficiency
(©) allo day efficiency (D) none of these
forawor TR % SR T == BT & |
(A) dieed R (B)  qetdT (C) wui-fea@ gaaan (D) 7H € whis &l
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45.

46.

47.

48.

49.

50.

S1.

The winding used in a 3-phase shell type transformer is type.
(A) circular (B) cylindrical (C) sandwich (D) rectangular

Teh F—shell 1 ThH o TEHI A T e THIHIEAIR |
(A) = (B) SR (C) IS (D) AR

The most essential condition for parallel operation of two single phase
transformers is that they should have the same

(A) kVA rating (B) percentage impedance

(C) polarity (D) voltage ratio

T TheA-hedl TG o THIG Y= o foi gaiferes Jrmavass aifeafd 98 &
fep 3o HH BT =MET |

(A) kVAIET  (B) i gfdsmen (C)  geteran (D) dledm S

Two transformers when operating in parallel will share the load depending
upon which of the following ?

(A) Magnetizing current (B) Leaking reactance

(C) Per unit impedance (D) efficiency .

I ZTEHIE S8 T Ii=Ter | &, a8 o Freft W e T |
(A) TS 9T (B) (B) feema wherma

(C) wfd 3ehTs wfcrmen (D) e %ﬁ
Stray losses are sum of: '
(A) Iron and Mechanical losses (B) Copper and Iron losses
(C) Copper and Mechanical losses (D) None of these

JehIvT g1 HIASE |

(A) <ire e =it wilaf (B) dTH qAT iig BIf-=T

(C) qTH qe ATtIehl grivat (D) 38 O His &l

Which of the following is not a part of dc machine ?

(A) Armature (B) Commutator

(C) Field winding (D) Damping winding

A g A a1 de mefid w1 Tk q e @ ?
(A) IR (B) fepufaass (C) &Ppeem (D) HaHcH FHeor

What are slot wedges in a dc machine made of ?

(A) Mildsteel (B) Silicon steel (C) fibre (D) Cast iron
T de T & @i wi=at foraeht s+t 2ieft & 2
(A) gg3&rd  (B) Tafcter s891A(C) HIER (D) &l dral

A 4 pole generator with 16 coils has a two layer lap winding. The pole pitch is :
16 TSt dTel Teh 4-gat T T g Tl o9 Aigfen 2 | ga STaud &
(A) 32 (B) 16 ©) 8 (D) 4
11 Code No. : C-753/2021/Series-A
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52. The purpose of providing dummy coils in the armature of a dc machine is to:
(A) increase the voltage induced
(B) decreases the armature resistance
(C) provide the mechanical balance for the rotor
(D) reduce the copper loss

Teh dc HefH o STHR | SHA higel M i 1 3639 &
(A) ST el S (B) TR R e
(C) =uieh < foTu H1foreh Hqei SEH ot ShI(D)  TTH &1 TeH 1
53. The coil span
(A) must be exactly equal to pole pitch
(B) can never be equal to pole pitch
(C) may or may not be exactly equal to pole pitch
(D) none of these
Hgctt 1 o (foer)

(A) gd AU o SR & BT MM |

(B) a0 37Ut o sIeR st &l g1 A1 |
(C) 4d 3Tauet o Ser gl ot Tehdl g 3T T8 off 3 HehaT 2 |

(D) 3T & HI &
54. In a dc machine, the sparking between brushes and commutator surface may
be due to :
(A) under commutation (B) over commutation
(C) too rapid reversal of current (D) any of two above
Teh dc T H, 5791 a1 fespdfiades Tdg o T Ta1fehT sl SHRUT I8 & Tohdll &
(A) = fespaftada (B) At fespufiada
(C) &m = 3Afd ol Ichuvl (D) IR 4 8 hiE ot g
55. The torque-speed characteristic of a dc shunt motor is :
(A) arectangular hyperbola (B) adrooping straight line
(C) aparabola (D) none of these

T dc 1E AT T FATU -1l SAT&foTeha
(A) Teh HAFATHR AT 2 | (B) U fircet dhiefi @ 2 |
(C) T WA 2 | (D) ¥4 & i3 Tl
56. When an electric train is moving down a hill, the dc motor will operate as a dc:
(A) series moter (B) series generator (C) shunt moter (D) shunt generator

9 U [ o weTet # A9 i AR S 7, de HeX T de ¥ dR W
afterferd gt |
(A) 2oft OreX (B) avfisim  (C) AR (D) I SIf=
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57.

58.

59.

60.

61.

The variable loss in a dc shunt machine is:

(A) Iron loss (B) shunt field loss

(C) armature copper loss (D) friction and windage loss
Teh dc 91¢ A9 H =BT 3

(A) e =i (B) ¥ &= &I

(C) whad ard g (D) =YUT YT ATSUSS BT

In swin burne’s test of determination of efficiency of a dc shunt machine, the
no load input power supplies:

(A) Armature and shunt field copper losses EEE

(B) Iron losses E%

(C) Friction and windage losses

(D) all of these

T dc 3¢ AP <hi garar T < T s wdtegor §, S R e sifer i swom

(A) IR A1 & @Rl (B) 8 gl

(ORCLUEEIE ISR Rl (D) @E@h

Which type of alternator is used in hydroelectric power stations ?
(A) Non-salient pole alternator (B) Turbo generator

(C) Salient pole alternator (D) Steam turbine alternator
et~ Tergga wfert ot & fopm Teh™ o1 Tl I I 8 7

(A) TET Ya TeTafe (B) <HI ST

(C) |Y~Td Ya TeTafe (D) WY Taiga Jerats
Harmonics in the emf generated in an alternator can be reduced by :
(A) skewing the slots (B) chamfering the salient pole tips
(C) using distributed winding (D) all of these

foreht Stfeetiet O 3= emf ¥ 311G o T ST Hehal B |

(A) TATC I AT L (B) TH~Td ¢ AIeh FSahIvM ht

(C) Toafa Fee =1 3T Hieh (D) I8 asft

A 3-phase synchronous motor has:

(A) high starting torque (B) no starting torque
(C) low starting current (D) low starting torque
Ueh Frehetl qearehlell Hiet § BT 3
(A) I YR TaATE! (B) oIS TR SaTel A&
(C) T ar= g (D) ey seTeet
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62. When does a synchronous motor operate with leading power factor
current ?
(A) While it is under excited
(B) While it is critically excited
(C) While it is over excited
(D) While it is heavily loaded

Teh qeIehlet! TS STIRTIH Tfed T[UTeh €T b T HATTerd ohl STl 3
(A) 9 98 37U AT & | (B) ST& 9% shifaeh 3Aford &l |
(C) 9 98 fd-3afd &l | (D) 9 9% fa-wifa & |

63. For V- curves for a synchronous motor the graph is drawn between:
(A) terminal voltage and load factor
(B) P.F. and field current
(C) field current and armature current
(D) Armature current and P.F.

Teh qeehlatt A1t & folt, V-ask o foTu 3ter@ & S =T AT g |
(A) e deedT qeim R 7T (B) Iferd T[UTh AT &1 €T
(C) & 9T qT 3= 9T (D) 3TTH=R YT e Ifed ToTeh

64. Induction motor shaft is made of :
(A) mild steel (B) castiron (C) high speed steel (D) stainless steel
TROT AT 1 I ST EIAT &

(A) TGFAAH (B) TOEicigd  (C) I =M 381 ol (D) T EIeA ol
65. What is the material of slip-rings in an induction machine ?

(A) Carbon (B) Nickel

(©) Phosph01: bronze ’ (D) Manganese

Teh 0T TR H FUOT-Ferl <l Ie1ef R a1 8 ?

(A) e (B) e (C) BRSNS (D) HHI

66. In an induction motor if the air gap is increased

(A) Its speed will reduce (B) Its efficiency will improve

(C) Its power factor will reduce (D) Its break down torque will reduce
Teh YT HieL |, Afe I ST S Sl 7, al

(A) 3G i = | (B) 39! garar gt |

(C) 39T Tferd T[UTeh T | (D) 3HHT HTeh STl T |

67. A three-phase 6 pole, S0Hz, induction motor is running at 5% slip. What is
the speed of the motor ?

T -l 6glt, 50 Hz SR0T I 5% T W I Wl & | A i a1 g ?
(A) 850 rpm (B) 900 rpm (C) 950 rpm (D) 1000 rpm
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68.

69.

70.

71.

72.

73.

74.

A 3-phase induction motor is operating at slip S. If its two supply loads are
interchanged, then its slip at that instant will be

T FI-hell SO WX S T W F=Iferd & | Al 38k & (A Wi 1 A9 H
AT AU, qeeTuT IEehT JUUT R

(A) 2-S (B) 2+S (C) 1+S (D) 1-S
The frequency of rotor currents at standstill is equal to :

(A) zero (B) 2f © f (D) sf.
IHER U E R IR Gl i) o S R |

(A) I (B) 2f © f (D) sf.

If the rotor current resistance is increased in an induction motor, the
maximum torque will occur at :
(A) Lowerspeed (B) highspeed (C) The same speed (D) none of these

T WO A1, oA g gfeliy Afe e e, 9 mead sereel w
Hfed BT |

(A) FEmafa (B) 3=l (C) TuF 7 (D) 38 O his &l
The power factor of an induction motor operating at no load will have a

value around
(A) 0.9 lag (B) 0.21ead (C) 0.2 lag (D) 0.9 Ilead

I YR T F=1eTd Ueh ST HIER 3 STfe T0Teh 3hl Yo TRTST &I
(A) 0.9 9%= (B) 0.23W (C) 029%™ (D) 0.9 3

Presence of 5™ harmonics in induction motor causes

(A) cogging (B) crawling E%
(C) small reverse braking torque (D) hunting =
TROT G T UTed g1 shi IUfErfd Seh sl 8

(A) IR (B) ST

(C) BT IchHvT SifehT 2Teh (D) ®fem

Location of a surge tank, in an hydroelectric power station is near.

(A) Turbine (B) Tailrace  (C) reservoir (D) Dam

Teh o -forgga wiferd T | Ioalict g ol TJAM 3ok THIT BT 3

(A) =T (B) fermsH (C) Sar™ (D) =g
Turbines installed at Bhakra Nangal are

(A) Pelton wheels (B) Francis turbine

(©) Kaplan ‘gurbine ’ (D) Propeller turbine

TG -1 H €A1 2aisd &

(A) UeeA s (B) WidH eagd (C) $TH eaigd (D) igeh e
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75. The average load factor of thermal power plant in India is

A | ardr wiferd T ST 3Td W 0T 8

(A) 100% (B) 80-95 % (C) 50-60% (D) 20-30%
76. Reflector of a nuclear reactor are made of

(A) Cast iron (B) beryllium (C) steel (D) boron

Teh TR Fuere =t TXradeh &1 2T &

(A) eeaiciig 1 (B) dffermd st (C) @ (D) S &1

77. ACSR conductors have

(A) All conductors made of aluminum
(B) Outer conductors made of aluminum
(C) Inner conductors made of aluminum
(D) No conductor made of aluminum

ACSR =T °

(A) aft I1eT WA S B 7 |
(B) aTE ATctsh U o & BId & |
(C) ATAfEh ATeTeh VST o &+ BId 2 |
(D) I3 TTcTeh UGI(H-H <1 &l &1 g |

78.  Which type of insulators are used on 132 kV transmission lines ?

(A) Pin type
(C) Shackle type

(B) DISC type
(D) Pin and shackle type

132 KV ZEfHeH ore § fohd bR o SSAER e 8id 3 7

(A) T =R
(C) el TR

79. The most common type of fault is
(A) Single phase-to ground
(C) Two phase - to ground

Fice (Y) 1 IEH ThR 2

(A) THhd el § YH °
(C) fg-wema

80. The electric braking system commonly employed in rolling mills, elevators

and printing presses is
(A) Plugging

Toret, IcTaeh T BTG § JTHT TR 9 SR

(A) U (i)
(C) Tfceh (STEHTTHeh)

Code No. : C-753/2021/Series-A

(B) Rhesostatic (C) Dynamic
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(B) DISC ¥R
(D) TU= T2 Sehet TR

(B) Phase -to- phase
(D) Three phase - to ground

(B) Tl & hell H
(D) -<helt & U H

(B) o fammeh! (FREeefesr)
(D) gsita (famfes)
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81.

82.

83.

84.

Electrode is not consumed in case of

(A) TIG welding (B) automatic hydrogen arc welding
(C) MIG welding (D) all of these
i 3TEET H Soraeie i @Ud &l aidl |
(A) TIG deed (B) AT BISSISH 31Teh doe
(C) MIG de=a (D) ot
The tips of the electrodes for spot welding are made of
(A) Carbon (B) Copper alloy or pure copper
(C) Mica (D) Porcelain
forg diee o 1T geiargiel <hl e &t Bidl &
(A) e (B) amy fasreng = v ™
(C) 319 (D) uifdeHd

Induction heating takes place in

(A) Insulating material

(B) Conducting and magnetic materials
(C) Conducting and non-magnetic material

(D) Conducting materials may be magnetic or non-magnetic
ST AT /S Fafeagmaz |
EGE
(A) FeARIER Tered E%
(B) TTeH T Jaeh uered
(C) TTeH aUT SAFTh qered
(D) =Te Uere, S aehid AT TSI &l Tehd 3 |

The temperature inside a furnace is usually measured by :

(A) Mercury thermometer (B) Optical pyrometer
(C) Alcohol thermometer (D) None of these
Teh Mgl o AR HTAMHH AHRGH  gRIAMT AT 2 |
(A) TR YmiHieR (B) 3Mifeehet qraiHiet
(C) Ucehlglcl YHIHIE (D) ¥4 | s Tl
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85. Battery driven vehicles
(A) are easy to control and very convenient to use
(B) causes no pollution

(C) have low maintenance cost
(D) All of these

Sl aTferd ared
(A) e g FEfa g & aun ST § 31fd STmeE § |
(B) gyl &l %eATd & |
(C) = w@-@E arE gt g |
(D) ¥ Tt
86. According to fuse law, the current carrying capacity varies as :
(A) diameter (B) (diameter)!->
1
; 12
(C) (diameter) (D) diametor
IS AT o ITTAR, IR & SHdl |1 Feerd! @ |
1
1.5 12 —
(A) = B) @™ (O (@W)I2 (D) o=
87. Inafluorescent tube if only the ends of the tube remains lighted, it indicates that
(A) Starter is short-circuited (B) The choke is defective
(C) The tube is defective (D) None of these
TS TaeITe Tl o, ATe shae Tl % SR Y1 & &, 1 I8 S0 T &
(A) R Ag-ula g | (B) =ieh &1fcir & |
(C) =eht arfeu 2 | (D) TTH & HIE T
88. Aluminum conductor cables can be joined by :
(A) Gas welding (B) Soldering
(C) Compression (D) Thermit- welding

T TeTeh heel I ST T |ehall 7 |
(A) Tdeed  (B) Hiesd (C) gdted (D) uftie Jeed

89. Which of the following distribution system is not normally used ?

(A) 3 phase, 3-wire (B) 3 phase, 4-wire

(C) 1-phase, 3-wire (D) single phase, 2-wire

S8 @ i T, Terawor yorrelt ST R 9 e e g 7

(A) TI-wvet, 3-aR aTef! (B) T-wa, 4-ar arett

(C) b hedl, 3—aR dTeil (D) Tehel Shedl, 2—dR et
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90.

91.

92.

93.

94.

HYV transmission line uses :

(A) Pin type insulators (B) Suspension insulators
(C) Both (A) and (B) (D) None of these

HYV TEfHSH ATga 399 | ofd &

(A) T JohR o foregatiet (B) frieTeH forgauieht

(C) (A)an (B) g (D) ¥ § g T&

Actual input applied to the system in case of closed loop system is :
(A) error signal (B) controlling signal

(C) actuating signal (D) None of these

e TS TOTTeA! o Tore H worrelt o1 SIS aredfae 319 8

(A) Ffe Hehd (B) TeIor Eehd E%
(C) T=TeH Hohd (D) T8 & SIS T& =

The largest error between reference input and output during the transient
period is called

(A) peak error (B) transient overshoot

(C) peak overshoot (D) transient deviation
IR HIA & A Hey (TWhH) IS aUT ATSHeye o He dad &gt Ife
HEATd! &

(A) =R (B) &fires weHefg

(C) fiY wgamafg (D) afures faaem

By using feedback in control system, the sensitivity to parameter variation is
improved. This is achieved at the rate of cost of :

(A) stability (B) loss of system gain

(C) transient response (D) reliability

T yoTTeft B g :awer & 3T g T gree 1 Hafedt s s ST ' | A9
I AT LI TS <hl STt 2 |

(A) e (B) oTTeft wtfey <t =fy

(C) &firep kA (D) ferea@tera

The degree to which an instrument indicates the changes in the measured
variable without dynamic error is :

(A) repeatability (B) hysteresis  (C) precision (D) fidelity

fon Tferes Ffe 6 Wk Iu=hTuT <l Shife ST HTY T = | UGG ol SRIG T &, &

(A) TEdEEar (B) feeeifam (C) ufrgar (D) deEudr
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95. Loading effect is primary caused by instruments having :

(A) High resistance (B) High sensitivity
(C) Low sensitivity (D) High range

Tl ITRL0T G STTHeR T H WRUT THIS 1A 2T & |
(A) 3= fauy (B) 3= Gagierdl
(C) T Tegsfieran (D) 3= W

96. With the increase of reverse bias in a p-n diode, the reverse current:
(A) decreases
(B) increases
(C) remains constant
(D) may increase or decrease depending upon doping

p-n SRS W YveiTe IRE se- o 1Y, Ty &

(A) Tt 2 | (B) wadi? |

(C) Rz | (D) et a1 T, S W R et 2 |
97. A tunnel diode is best suited for:

(A) very low frequencies (B) 50 Hz

(C) 100 kHz (D) microwave frequencies

Teh o1 SIS % foTu 918 At W Suge ¢ |

(A) Ffa f= smgfoi (B) 50 Hz

(C) 100 kHz (D) HEA-TOT AT

98. The use of a capacitor filter in a rectifier circuit gives satisfactory
performance only when the load
(A) currentis high (B) currentis low (C) voltage is high (D) voltage is low
e fegenrll uftay § e ftheet w1 SuanT Sheret avt GaTvehes foare a1 2 oie

(A) Wi 9T 3= & | (B) wia g f=r & |
(C) Wi aeear = & | (D) WTiE dieedt F= 8 |
99. For a npn bipolar transistor, what is main stream of current in the base
region ?
(A) Drift of holes (B) Diffusion of holes
(C) Drift of electrons (D) Diffusion of electrons
T npn fg-get it = foTu, 9@ & | q&7 910 Yare &1 86 7
(A) Tesgi ot fereerm (B) fesgi o feremom
(C) gerergHl b1 foreme (D) Toiagit ol fereror
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100.

101.

102.

103.

104.

10S.

106.

MOSFET can be used as a :

(A) current controlled capacitor (B) voltage controlled capacitor
(C) current controlled inductor (D) voltage controlled inductor
MOSFET % TR 9 S &l TehdT & |

(A) g fFata gutfe (B) dieean fata wenfa

(C) = =t T (D) dieedn f=ta S

The efficiency of a LED for generating light is directly proportional to the:
(A) applied voltage (B) current injected

(C) temperature (D) level of doping

ehTIT e~ i o ToTT e LED 3hl G&aaT SHTUT BId! 8

(A) STIIAITSA el o (B) 37d:&ifud amrh

(C) dTIHH % (D) St &R

The 9’s complement of (25.639) 1s : E‘%
(25.639);( 1 9 I T & :

(A) 74.360 (B) 0.6732 (C) 6.732 (D) 7.436
The decimal equivalent of (1431)q is

(1431)g 1 GRS o3 & :

(A) 793 (B) 739 ©) 379 (D) 397

The number of distinct Boolean expression of 4 variables is:
4 =1 % gk el SSTehi ohl HE&AT &

(A) 16 (B) 256 (C) 1024 (D) 65536

The only function of NOT gate is to

(A) invert an input signal (B) act as a universal gate

(C) stop a signal (D) None of these

NOT R 1 THATA % 3

(A) T T Fomet =l I (B) U A&k gR o dR W R AT
(C) T famaet =1 Tehell (D) 38 O His &

A 12-bit A/D convertor has a full scale analog input of 5 V. Its resolution s :
T 12-fsre A/D qitEdes § 5 'V 31 Teh JUT Tohat THIANT $YC & | SHeh NSl &
(A) 1.22mv (B) 2.44mv (C) 3.66mv (D) 4.88mv
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107. In digital communication system, data transmission rate is specified in :
(A) MHz (B) bitssecond (C) Bytes/second (D) bauds
fefSTeet T=m womeft &, grer Swor ot ffde 2

(A) MHz (B) fg@masug  (C) «Ee@/THvE (D) «=eH

108. If the carrier of 100% modulated AM is suppressed before transmission the
power saving is nearly

afe 100% Argletd AM aTesh JEfieH & gt Heftid 81 S, i vife srerd o gt

(A) 50% (B) 67% (C) 100% (D) 125%
109. Which of the following is the fastest switching device ?

(A) JFET (B) BIT (C) MOSFET (D) Triode

Fre i § 2 ot e v e g 2 0

(A) JFET (B) BIT (C) MOSFET (D) ¢RI

110. In a thyristor, the holding current Iy is :
(A) more than latching current I; ~ (B) less then I}

(C) equaltol (D) equal to zero
ATITCET H, 90T 9T [ Bl &
(A) e ama 1 ¥ 31fe (B) I §%H
(C) I % ST (D) I o S
111. Triacs can not be used in ac voltage regulator for a :
(A) Resistive load (B) Back emf load
(C) Inductive load (D) Resistive inductive load
TH % ToTT ac dieear Fames | 2TUeh o1 SURNT &) foha ST JehT |
(A) SfeRieft TR (B) U emf 9R
(C) W R (D) wfereft ST WK

112. Which of the following devices can be turned ‘ON’ or OFF by applying gate signal ?
SR et o SRS gR 1 5 & s ©t Jfeail Sl ON A1 OFF fohal 511 Teha & 2
(A) SCR (B) SCS (C) TRIAC (D) UJT

113. The frequency of ripple in the output voltage of a three phase controlled
bridge rectifier depends on

(A) firing angle (B) load inductance
(C) load resistance (D) supply frequency

T fr-ehet It s femerrl shi 3113eye dieedt H SHiHen e KL
Bl € |
(A) BREWETHO  (B) WRS&E  (C) WRIY (D) Y& &
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114.

115.

116.

117.

118.

119.

A four quadrant chopper can not be operated as :

(A) one quadrant chopper (B) cycloconverter
(C) inverter (D) bidirectional rectifier
=T = qaTe S o I o HTfeTd T8 81 &ehd & |
(A) T TqUicl I (B) TTIATShEcl
(€) Fa& (D) fg-2fer fewaprdt
Current source invertors are suitable for supply power to:
(A) RL loads (B) Inductive loads
(C) all loads (D) capacitive loads
1 1T Tl oh foTT T A 3= IUY ¢ |

(A) RL ¥R (B) W ar  (C) @t R (D) iar ¥R

Which of the following transducer is used for transmitting as well as
receiving the acoustic energy in an ultersonic flow meter ?

(A) LVDT (B) RTD

(C) Piezo-electric Crystal (D) strain gauge

Teh HegMENeh Foll Hiet § edfieh Ho1l Ifd shid 37 |1 & 91 b o forw fm
T H DM AT ZESTE SYFd Bl § ? -

(A) LVDT (B) RTD E%

(C) Trafaead fohted (D) ferspfcmdt

Which one of the following transducers is the most suitable for measurement
of linear displacement ?

(A) starin guage (B) LVDT

(C) Piezo-electric crystal (D) microphone

Waes fereemm & 7109 & foTe T S caegm e H g s a1 g 2
(A) ferspfermrdt (B) LVDT

(C) <E-Tored foreea (D) HISHIBH

A memory in which the contents get erased when power failure occurs is :

I8 i) TS sifea fawem ot 39 gufed Seeprd fire Sirdt 2

(A) RAM (B) EAROM (C) PROM (D) ROM
Flux used in TIG welding is :
(A) Ammonium choloride (B) Borax
(C) Ash (D) None of these
TIG desd | T Folad 3
(A) THIIH FARSS (B) anad
(©) TE (D) 8 & I el
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120. Which method is appropriate for heating non-ferrous metals ?

(A) Dielectric heating (B) Radiant heating

(C) Indirect arc heating (D) Indirect resistance heating
AT T3 o qT9 o foA i &l forfer Sugea & 7

(A) TEEd d (B) ferfertur d1om

(C) YA 3Tk I (D) AT Tfelre qra=

121. Where in H.P. is the 81 foot idol of Lord Shiva installed ?
(A) Bharmour (B) Baijnath (C) KotlaKalan (D) Rewalsar
TemTeret yew H el W e g it 81 hie i gfd wenfua @ 7
(A) 9RER (B) SSHIY (C) Hree e (D) famem

122. In which princely state did Dr. Y.S. Parmar serve as District & Session Judge ?

(A) Sirmour (B) Bhagat (C) Suket (D) Bushehar
fong Tt T | .99, Td. YR 3 feediee we O3M S & dR W HaT & ?
(A) fowr (B) e (C) gHd (D) &

123. Which Himachali was captain of Indian Hockey team that won gold medal at
1964 summer olympics at Tokyo ?

(A) Charanjit Singh (B) Manjeet Singh

(C) Ranjit Singh (D) Kuldeep Singh

1964 sy Aiffryes, S d Ui 9eeh S dTell YR Biehl dH 1 feAmet
htdl AT

(A) TN g (B) #edfdg  (C) Teaiag (D) $oamd 498

124. Manak, a great master of Pahari miniature, adorned the court of which ruler ?
(A) Sahil Varman (B) Sansar Chand
(C) Ajbar Sen (D) Deep Chand
T, TETS! STefara Steft o1 TgH AR, foh STTHeh o SUam shi ST & 2

(A) Tifgetads (B) WEREG (C) 3ISTeEA (D) du=ie

125. How many dialects of H.P. belong to Indo-Aryan family ?
et e it fopaft aiiferat sve-smd pA A I E 7

(A) 21 (B) 25 (©) 30 (D) 32
126. Chasim, a folk dance performed in which district of H.P. ?
(A) Sirmour (B) Solan (C) Shimla (D) Kinnaur

=1 ArehIed ferTaret wewr & fopet et & fepan ST 2 2
(A) fawr (B) @M (C) Temem (D) fF=R
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127.

128.

129.

130.

131.

132.

133.

‘Himachal Pradesh — A Perspective’ book is written by

(A) Dr.Y.S. Parmar (B) D.N. Majumdar

(C) Bal Govind (D) Ramesh Chauhan

“femmaret yew-T T’ qeas fora foret 2 7

(A) E. 9¥.TH. YER (B) EI.TA. TSR o
(C) wrewifeg (D) T <EH "’%
Asea’s biggest carp fish farm is situated in which district of H.P. ?

(A) Bilaspur (B) Hamirpur (C) Una (D) Kangra

UfITT 1 e 51 1 TR B fEmTeet vew H sl W R 7

(A) foamg (B) #FhE (C) F (D) TSI
Which pass is the gateway to Lahaul ?

(A) Baralacha pass (B) Rohtang pass (C) Chobiapass (D) Kugtipass
1A A1 Gl TR Bl TR GR & ?

(A) ST (B) Ugdmed  (C) =Mfsened (D) Fwiad
The length of Nangal Una-Chararu railwayline is about

:TITW'[ -l - ‘CRI{C\{('IOI ﬂl&ﬂaﬁddlsﬂm%
(A) 96 km (B) 113km  (C) 33km (D) 54 km

Which is the executing agency of Kol Dam hydroelectric project of H.P. ?

et e & hieT dfel et farega aienstT 1 i TaEt i T g 7

(A) BBMB (B) SJVNL (C) NHPC (D) NTPC
The first Vidhan Sabha Speaker of H.P. was

(A) Pandit Jaiwant Ram (B) Kirishan Chander

(C) K.L. Mehta (D) N.C. Nandi

et Tet < o fagm™ au sreae 3

(A) ufed SFad ™ (B) &S =TT

(C) .Ud. Hgdl (D) w.H. 7@

Sujanpur Tira was founded by
(A) Hamir Chand(B) Abhey Chand(C) Alam Chand (D) Jai Chand
GG I ohT TATIAT Fehdieh g1 <h1 71g off ?

(A) R =g (B) NI =g (C) Iemdg (D) S¥=E
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134.

13S.

136.

137.

138.

139.

140.

Lama lake is situated in which district of H.P. ?

(A) Mandi (B) Chamba (C) Kullu (D) Lahaul-Spiti
I 3 feameet v o fepa o 5 8 2

(A) AU (B) = (C) e (D) wTEA-Sifd
Taragiri glacier is situated in which district of H.P. ?

(A) Kinnaur (B) Kullu (C) Lahaul-Spiti (D) Chamba
ARE fawe fermeat wem & fra S 6 2 7

(A) TR (B) el (C) @mE-wfifd (D) ==

Who was the president of the 14" session of the conference of the parties to
the United Nations Convention to Combat Desertification ?

(A) Narendra Modi (B) Yoshihide Suga

(C) XiJinping (D) Gotabaya Rajapaksa
TEEeATRur ¥ frued & T s Tgl & srfeaym o wiféei & +ivhd & 149 I9H
o T A Y ?

(A) g A (B) Iuffeegm (C) shfwafm (D) ware= Use

Which country has recently launched the ‘Project O, for India’ to tackle the
medical oxygen demand after Covid 19 second wave ?

(A) SrilLanka (B) India (C) Russia (D) Indonesia
ehifag- 19 I gall T o Tz Hisshal Aadis AT § e o fo forg qur 4
T &1 H ‘Tt 0, B 3108 afd fehaT 8 ?

(A) #ieTeht (B) Wrd (C) ®& (D) 3USHfmET
Naftali Bennett, who was in news recently is the New Prime Minister of
which country ?

(A) TItaly (B) ’Israel o (C) France (D) Iran

ATl 9=, ST BT & § TR | o, form o1 o gamest 2 ?

(A) Feefl (B) TR (C) %™ (D) &

Missing terms in the letter series / 3787 *F@eT § I S & :

ab aa caab c abb care

(A) bbcac (B) bcbea (C) cabac (D) cbbac

In a certain code language the word VINEY ARD is written as RLYHNDVG.
How will the word RETRENCH be written in that language ?

U fifead % 91 § ‘VINEYARD’ &1 ‘RLYHNDVG’® fot@t 1 & | 915g
‘RETRENCH’ ! 38 91 & & forem s ?

(A) VHEUTQRK (B) VHEUHQRE

(C) CHEUTQRK (D) CHNUTQRK
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141.

142.

143.

144.

145.

Shailendra takes casual leave on the first working day of every month. The
office remains closed on every Saturday and Sunday. If the first working day
of a 30-day month is Tuesday, then his next casual leave will be on which of
the following days ?

(A) Wednesday (B) Thursday (C) Friday (D) Monday

Jeig I HIE o TUH SRS foag W Ahiens gl ofdr 8 | 3hE s
TfEmR T e 1 S Wt @ | A T 30 feHi < Arg w1 vem wriie foed
IR &1, I IHeh! 37T 3TTeh e Fg! T =1 § & i1 &1 fead grm ?

(A) FgaR (B) TraR (C) A (D) HHR

In a row of girls, Purnima is eighth from the right and Bhavana is twelfth
from the left. When Purnima and Bhavana interchange positions, Bhavana
becomes twenty-first from the left. Which of the following will be Purnima’s
new position from the right ?

(A) 8 (B) 171 (C) 21 (D) Data inadequate
ARl <l T dfed H UM G § TS qUT W 9T 8 SNEd! & | S qomT
AT W 319 TRt 39 | deddt &, a1 WioHT ST § Seehigs| &l SiTdt & | T™

& qftfar <6y ¢ fearfe forer & & 1 o 2 2

(A) & (B) 174t (C) 21di (D) STeI YT
Which roofs provide better protection against heat ?

(A) Cement slab (B) Asbestos sheets E%

(C) Reinforced concrete (D) None of these =

I T B ST % Tr6g I8 TR UgH HLAT R 7
(A) THewd"  (B) TR@Ifie (C) Jafeld sshie (D) 398 O his &l

Which polymer is widely used for making bullet proof material ?

(A) Polyethylene (B) Polyamide
(C) Polyvinyl chloride (D) Polycarbonates
Sele— e I o ToTT g dIt Ot bl |1 gTehat S &l 8 ?
(A) uifeTaefaefa (B) difcTTATSS
(C) diferferset Fefise (D) difeTehraTEa
The first organ transplanted was
(A) Kidney (B) Lung (C) Heart (D) Liver
ZTCATE foRaT TR W 37T o
(A) I (B) &% (C) =@ (D) %
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146. Natural rubber is chemically known as

(A) resin (B) gum (C) latex (D) mucilage

Tehcieh TS o YT TR 9L el STl &

(A) (B) g (M) (C) T (D) wfeerst
147. Gondophernes belonged to the

(A) Saka dynasty (B) Satavahana dynasty

(C) Parthian dynasty (D) Kushana dynasty

TEhE FEid o

(A) YHIMH  (B) IA@EEA TN T(C) TR I A (D) FIOT I &

148. Ashoka, the Great, died in
39Tk WEM ol g 53

(A) 206B.C. (B) 216B.C. (C) 226B.C. (D) 232B.C.

149. Which Indian King requested Napoleon for help to drive the British from

India ?
(A) Rani of Jhansi (B) Jai Singh
(C) Shivaji (D) Tipu Sultan

fopd VIR TSI 3 R § 37U ohl @e g o TOTU AlTera € Hag Arft off ?
(A) FEt AT (B) TR (C) feramsh (D) &g geaH

150. Alberuni came to India with

(A) Mahmud of Ghazni (B) Changhiz Khan
(C) Alexander (D) Timur
A% ferdeh T WG 37T 7 7
(A) WEHg TSI (B) IS @H
(C) Telist (D) d9

151. The first Muslim ruler in India was
(A) Muhammad-bin-Tughlaq (B) Mahmud Ghazni
(C) Qutbuddin Aibak (D) Muhammad Ghori
YT T T AT I o1
(A) HgHg-foA-qTeTeh (B) W&Hg Tt
(C) FATEH U5k (D) Hewe M
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152.

153.

154.

155.

Who were popularely known as Red Shirts ?
(A) Congress socialists

(B) Khudai Khidmatgars

(C) Members of the Azad Hind Fauj

(D) None of these

i TG IR T AT HHIS 8 W S1d o ?

(A) I FHTSETE] (B) WeTs Raera
(C) 3T fég ®Iv & Hee (D) T8 T IS &

Is the Prime Minister bound to advise the President on matters on which his
advice is sought ?

(A) Yes EGE

(B) No E%

(C) It is discretionary

(D) Ifthe council of ministers so desires

FIT T TFYT T 3T AHAT T TATE <7 o foTe a1ext B T W 3g9eh! wetrg mnft
TEE 7

(A) & (B) &
(C) =& foraemmefiA 2 | (D) =fe w=ft uftwe T =
The centre-state financial distribution takes place on the recommendation by the
(A) Finance Minister (B) NITI Aayog
(C) Finance Commission (D) Sarkariya Commission
I 3T TR g - T Terft ferawor feman Sran 2 |
(A) o =ft (B) NITI 3T
(C) Tt 3 (D) FTHITT ST

The Appellate Jurisdiction of the Supreme Court does not involve
(A) Criminal cases

(B) Civil cases

(C) Cases involving interpretation of the constitution

(D) Disputes arising out of pre-constitution treaties and agreements

el =T o STl TR | e 781 &
(A) SATITYH HH

(B) fafeet g

(C) W@ e fyem gfqem =1 fid=m w8 |

(D) qd-TegTiTen TR a1 AHEidl o Rl W foare

29 Code No. : C-753/2021/Series-A

https://snowstudy.in



156. The balance of payments deficit in India can be eased by
(A) conserving the foreign exchange reserves
(B) promotion of exports
(C) liberalization of imports
(D) export promotion and import substitution

IR H T Fqet =1l BRI ¥ TohaT ST Feha & |
(A) Tocw fafrma deg T atami e (B)  faidi sl Siced shieh
(C) 3ATATAT ST I Hih (D) T SredTes qerm ST gfcreemm

157. The RBI issues
(A) all the currency notes
(B) all the currency notes except the one rupee note
(C) all the currency notes except the hundred rupee note
(D) none of these
RBI Fifed shiam & :
(A) Tt & TeE
(B) @t it Aicy foar we w93 i A
(C) Tt et ey faama ot wu=n i Fre

(D) T | I3 T

158. Asteroids have their orbits between which planets ?
(A) Mercury & Venus (B) Earth & Mars
(C) Mars & Jupiter (D) Jupiter & Saturn
Tfgeh13Tl hl 37T HETd B! & $4 Tl o HEA
(A) T IH (B) el aeft iTer
(C) T a1 & fd (D) S&eald qem

159. Doldrums are
(A) High latitudes with heavy snow  (B) Equatorial zone with low pressure
© High pressure areas on mountains (D) Sub-polar zone with high pressure

(A) TR 5% Tl 3= A& (B) = e aret forgartar &

(C) el W 3 ¢ aTet & (D) I TE aTe1 3U-Yet &
160. The Yellow sea is located in

(A) U.S.S.R. (B) North Pacific Ocean

(C) US.A. (D) North Atlantic Ocean

qett HHg feag:

(A) I.TH.TH.3R. (B) 3T eI HEETR

(C) I T (D) 3T AT HEETR
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Which is a cash crop ?

(A) Maize (B) Potato
i ©l Teh Tohe] HaA § ¢
(A) eI (B) 3]

The highest dam in India is located in

(A) Punjab (B) Rajasthan
A 1 Ted 3= 19 fera g
(A) UTTa H (B) TSN o

Antonym of ‘Jittery’ is
(A) Profuse (B) Tense

(C) Rubber (D) Gram
(C) g (D) =t

(C) H.P. (D) J&K

(C) Ba.d (D) W] T
(C) Bold (D) Shaky

One word substitution for ‘The policy of extending a country’s empire and

influence’ is
(A) Imperialism
(C) Internationalism

(B) Capitalism

(D) Communism 3 E
e

Meaning of the idiom ‘Leave one to sink or swim’ is

(A) To be in a dilemma
(C) To put one in difficulty

This is the road to go

(A) through (B) to
g’ | THE 2

(A) &% (B) gy
‘o’ o1 Gy fa=se &

(A) 9+ 3 (B) oI + 3
IS YT ]

(A) =t (B) &<
‘Ted’ I TIHaTE 3

(A) T (B) 9R<q

(B) To leave to one’s fate
(D) Not to help one

(C) by (D) with
(C) wgshz (D) 3rerfiTe
(C) W+ 3W (D) ¥+ 3
(C) & (D) &

(C) ah (D) ARW
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